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Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) Whatis the use of Fork () system call?
widh () RiIeq Bidt BT 7T SYINT g ?

(i) What is internal fragmentation?
goveT WM T 8 ?

(iii) Give the use of shell in OS.
OS ¥ 9IeT BT TN TR |

(iv) Why long term scheduler is needed in Operating System?

ITRIET RiveA | a3t dAT=T o ThgoR &l SRovd g ?

(v) Which scheduler selects the jobs from the pool of jobs

and loads into the ready queue?
DT AR S Pl 19 IT A FADPR 8T P Dl HAR H
T 8

(vi) What is the solution of starvation problem?
FCRAYH &Y AT BT FHIY FIT g 2

(vii) What is a process?

TR a7 ¢ ?

Section - B 4x7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qus - §
(oTg IR 99 )
fAder: gl IR oAl & IR VI MY U7 ITR B 31ferday
200 vregf ¥ gRAAT HIfoTe| U ueT 7 3 a1 2l
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Explain the various services that are provided by operating
system in brief.
Afered 9 TRféT Rived g1 wgM fi STHarell oy Jan
SSEEY

Explain the various states of the process using suitable
diagram.

SWIA T3 BT ST B fshar & A= sraweermai o
eI

What are the benefits of threads? Explain context switching of
processes and threads.

I B AT T & 2 TR 3R g & gy et 1wy

Explain the types of operating systems in brief.

féred ® MRfET Red & UPHRI B THN |

What do you mean by page replacement algorithm? Why page
replacement algorithms are used?

UST NeRIHE TR ¥ a7 Hdeid g ? UsT YeoRiHe UeHITNGH &l
g1 IUART foar ST 8 2

Explain critical section problem. How are semaphores used for
solving critical section problem?

fopfeapal Harer TR AT | fohfedet Sarem AT ol Geret
& foru HmmpRt Y IuART Ry ST § 2

What are the different deadlock prevention schemes? Explain
them.

SScliep e TSN &7 §? S2 I9SIsU|
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What do you understand by interrupts? What is difference

between hardware Interrupt and software Interrupt?
T S0 W AT IS 2 ? BOdIN S 3N ATFCIIR $eite
& dier ofaR T g2

Section-C 2 X14=28

(Long Answer Questions)

Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries

14 marks.

Qus - |
(e IR o)

fAder : gl g U9l & IR SINTTI 3T 399 IR B 31frpad 500

grect o g Hif| U UeT 14 3T & Bl

10) Consider the following set of process with the arrival time and

CPU burst time given in milliseconds.

o e PT ARhaTR et § T & J9 iR HdR s*e

T R TR fpfom
Process Arrival time CPU burst time
P1 2 9
P2 1 2
P3 0 3
P4 1 7

What is average

waiting time for these processes with the

shortest remaining time first scheduling?
giicee T TIeH wed AT & A g UfhaArel & forg
I SIOTR DT I9T T g 2
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Explain any four page replacement algorithms. With the help
of an example explain Belady's anomaly.
fodl oft TR U9 Reatatic ToMiNed &l HSIV| U SSIERT ol
HERIT & doie! & fa=qwfer &t e el

Explain the difference between logical and physical address
space. Explain fragmentation. What are the various solutions
for external fragmentation?

fhfTmeT Ug dTfoTdhel U WU & d1d 3R q9IUl HHeeH
IIRSY | Va¥IeHel hHCeM & oy fafi awmems aar g2

Consider 3 frames and the following reference string using
FIFO and LRU page replacement algorithm to calculate the
number of page faults in each.

3 %y 3R = deef T 1 SUIWT vl FIFO 3R LRU O
Rectatic TeMiRed & ST A UST thiec Bt T i TUMET |
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